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Worksheets

Worksheet 1

	 1.	 Add the following.	 	 	     2.	 Add the following.

Th H T O
9 8 7

+ 3 4 6

	 3.	 Add the following.	 	 	     4.	 Subtract the following.

Th H T O
6 5 7 2

+ 3 0 6 9

	 5.	 When 2317 was added to a certain number, the sum was 4982. Find the number.
	 6.	 Find the number from which 1765 must be subtracted to get 2987.
	 7.	 Find the number which must be subtracted from 5039 to get 1874.
	 8.	 Estimate 5392 + 4618 to the nearest thousand. Also, find the actual sum.
	 9.	 Estimate 897 – 624 to the nearest hundred. Also, find the actual difference.
	10.	 Estimate 8952 – 7643 to the nearest 1000.

Worksheet 2

	 1.	 Add the following.	 	 	     2.	 Add the following.

Th H T O
3 9 5
2 8 7

+ 1 4 6

	 3.	 Subtract the following. 	 	 	     4.	  Subtract the following.

Th H T O
5 6 8 7

– 4 5 8 9

Th H T O
4 6 5 3

+ 4 3 1 2

Th H T O
8 9 6 7

– 5 2 3 6

Th H T O
7 5 8 3

+ 2 1 9 8

Th H T O
6 7 0 8

– 5 8 4 9
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	 5.	 If the sum of two numbers is 5384 and one number is 1976, find the other number.
	 6.	 Find the minuend which gives a difference of 3041, when the subtrahend is 2185.

	 7.	 A table costs ` 9,072 and a chair costs ` 2,849. How much more did the table cost 
than the chair?             .

	 8.	 Estimate 126 + 499 to the nearest hundred. Also, find the actual sum.
	 9.	 Estimate 78 – 49 to the nearest ten. Also, find the actual difference.
	10.	 Estimate the number 8956 to the nearest 1000.

Answers to Worksheet 1
	 1.	 1333	 2.	 8965
	 3.	 9641	 4.	 3731
	 5.	 2665	 6.	 4752
	 7.	 3165
	 8.	 Estimated sum: 10000; Actual sum: 10010
	 9.	 Estimated difference: 300; Actual difference: 273
	10.	 1000

Answers to Worksheet 2
	 1.	 828	 2.	 9781
	 3.	 1098	 4.	 859
	 5.	 3408	 6.	 5226
	 7.	 ` 6223
	 8.	 Estimated sum: 600; Actual sum: 625
	 9.	 Estimated difference: 30; Actual difference: 29
	10.	 9000




